il
W
St
%
I

1. THE4
TE4 SF6EE HERRE (P3—A2) MUEMRTIHE
T4 REA L REAS T AL X BE H e PN i1
2. THEHNE
1)  HEI4 REA | EE BT E R P
2) £ I & R EETEH
3) L ] 365 H [ H SF0 T4 4A 1H
= AFn 84 3H3LH
4) TEyE

ELAma  JuN TR )R



it
W
=
=
I

&=

TH4 | FM6HEE FERAE (P3—A2) MEMRLE

LKy - LA - FER

fz

ﬂlj“

R ETE

g

&
2,

152, 086, 247

BT T

2t

267, 906

BT T

2t

133, 596

PETCTy—
(% - FRxiE)

BAESL Gr-B—4E 21mPL E50maAH R S 4l 1F 8

27 m

B 1Al T

134, 310

o8- SR GE B IEAD

(% - FRxiE)

H=1800mm 2N A HllEAR ] &

30 m

TEGEAT Jm A 1

141,907, 113

TEAGR 1L 2E {8 T

30, 133, 937

TGS 1L
() (P3(P2AAD)
PCH—7" v 1360KkN ;
TEAE LS 1L
() (P3(P4AD)
PC/—7" I 610kN ;
TEAE LS 1L
(ED)(a2)
PC/—7" I 830kN ;
TEAE LS 1L
(Fv) (P3(P4AN)
PC/—7" I 830kN ;

KD oy PR T

92, 643, 498

VAL s L s
() (P3(P2AAD)
1700kNf Fix ;

VAL s L s
() (P3(P4AD)

1200kNJH Mov—60 ;

VIR EL T Sy
(Ev) (P4P3MD))
560kNH Fix ;

ELAma  JuN TR )R




il
W
>
%%%
I

&=

TH4 | FM6HEE FERAE (P3—A2) MEMRLE

LKy - LA - FER

Eé

fz

%

=

B

ﬂlj“

VAL EiEL s
() (P4(A21a])
560kNA Fix ;

VAL EiEL s
(ED)(a2)

1000kNH Mov—60 ;

VIR L S
(Fv) (P3(PAN))

1200kNJH Mov—60 ;

fé] T

o=

fé] T

RRANT 4 A 1 T

7,654, 125

RSN P R 1
() (P3(P2AAD)
EMTEAEL ;

RSN P R 1
() (P3(P4AD)
EMTEAEL ;

RSN P R 1
(Fv) (P3(P4AN)
EMTEAEE ;

Tk LR 1

6, 058, 649

TR IL I A
() (P3(P2AAD)
BT Ty}
TR IL I A
() (P3(P4AD)
BT Ty}
Fa L
(Fv) (P3(P4AN)
BT Thyb

oK T

538, 105

BEAKAE
() (P3(P211))
VPE

BEAKAE
() (P4 (P311))
VPE

A

FLIN 7R A =)




Vol = =
FEENRE it
TH4 | SF6HEE FEHEKE (P3—A2) MEMRLIE
TEHEX Sy - THE - R B {7 ¥ & & # A bl A iR
(ED)(a2)
VPE
AT T 2 1 4,878,799 | B THEK KR (L) (P3(PAAI)) 1 =0
TR TARATES (0 (P3(PA{R)) 13 m
THE AR (F ) (P3(PA1AD) 13 m
BlyGmaE T = 1 1,041, 967
BGBEET = 1 1,041,967 |FEHIFHE 76 m2
&) ) T HALE
T 7 m2
B 1) 9FA AV QR Y /JE) BWAEEH 1
=
T 76 m2
Mba-h BPER SV AR R (@) BEEEH
I
T 76 m2
BRI VB EE CEIE Y /fE) B
[F¥ 10\
R 76 m2
SoRBAEREIA W BER 1E
k% 76 m2
5o BBAEBE WE BERE 1M ;
HEE L = 1 1,191, 984
Fea G206 B i s T = 1 1,129, 941 | %H&ERG IR E R E 1 =X
HEKE ML 1 X
() (P3(P2AAD)
VPE
HEKE ML 1 X
() (P4(P31AD)
VP&
HEKE ML 1 X
(ED)(a2)
VP%“ :

-3 - E ta2@d Ui




Vvl = =}
FEENRE s
TH4 | SF6HEE FEHEKE (P3—A2) MEMRLIE
TEXS5y -« Lff - B {7 ¥ & & # A bl iR
(TS 1 2V
() (P3(P2AAD)
(EE SN 1 2V
(Fv) (P3(P21AN)
TR ALER T = 62,043 | Bl3G3E A LIS 1 =
% T = 7,677,277
BT 2 3,352,957 | 2% 1 X
(ED)((P3)
T LRI R Y 2oy ML
s 1 X
(Ev) (P
T LRI R Y 2oy ML
s 1 X
(ED)(a2)
T LRI R 2Ry ML
s 1 X
(Fv)P3)
T LRI R Y 2Ry ML
s 1 X
(ED)((P3)
MRS v ARIE Y BhRE
s 1 X
(ED)(a2)
mEY v-ME Y BE
s 1 X
(Fv)P3)
mES V- ARIEY B
B EHT = 1 4,324,320 | RiBEFHEZLEE 1 =
RN X =X 1 152, 086, 247
-4 - E A2 s SN 7




R s

TH4 | FM6HEE FERAE (P3—A2) MEMRLE

TEHX4y « Tfd - FER B Az W B & #A i il A R
B R = 1 11, 440, 255
BISTIGE: = 1 2,179, 255
HeffrE sy = 1 1,033,255 |$kApIEE 1 =
JE R FAT - ERR 1 F2
BGRESGESE (5 L) = 1 1, 146, 000
B (FEEHL) = 1 9, 261, 000
T = 1 163, 526, 502
Bl gy 2 1 33, 250, 000
T =5l = 1 196, 776, 502
— R A 2 1 30, 833, 498
TS 2 1 227, 610, 000

-5 - E ta2@d Ui




